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Week 1, Day 1: Column Addition 
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Week 1, Day 2: Addition Pyramids
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Week 1, Day 3: Repeated Subtraction of a Factor
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Week 1, Day 4: Column Subtraction Challenge!
[image: ]





Week 1, Day 5: Two-step Addition and Subtraction word problems
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Week 2, Day 1: Multiplying and Dividing by 10, 100 and 1000
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Week 2, Day 2: Multiplying and Dividing by Multiples of 10
[image: ]





Week 2, Day 3: Word Problems involving Multiplication and Division by Multiples of 10
[bookmark: docs-internal-guid-d0d871d8-7fff-1b7e-aa]
1. There are 360 horses evenly divided into four fields. How many horses are there in each field?

2. Sara has 480 packets of crisps. She must share these equally between her 4 friends. How many crisp packets will each friend get?

3. Last year, 4 people each paid £3200 for an insurance package. How much did the people pay in total?

4. For a school party, the headmaster bought 20 big bags of candy. There were 13 pieces of candy in each bag. How many pieces of candy did the headmaster buy in all?

5. You want to share 480 pencils among 6 friends. How many would each friend get?

6. A pet store has 4 tanks of tadpoles. There are 5200 tadpoles in each tank. How many tadpoles does the pet store have in all?

7. In a school there are 360 children. There are 9 classrooms. How many children are in each class?

8. An art dealer bought a set of 4 beautiful vases. Each of the vases is worth £80. How much is the set of vases worth in all?

9. There are 4 rows of seats at the Memorial Stadium. Each row can seat 40 fans. How many fans can sit on the 4 rows?

10. A sweet shop has 6 boxes of chocolates. Each box has 40 pieces. How many pieces is there altogether in the 6 boxes?


Week 2, Day 4: Multiplication Triangles 
Use your time tables knowledge to complete these multiplication pyramids. E.g. 
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Week 2, Day 5: Multiplication and Division Word Problems

	1. [bookmark: docs-internal-guid-3373cc40-7fff-b95a-59]Bubblegums come in packs of 3. If there are 21 Bubblegums. How many packs are there?

2. There are 15 pieces of fruit. They are  shared equally in to 3 bowls. How many bowls are there?

3. A gardener is planting 24 onions. She plants them in rows of 4. How many rows will there be?

4. There are 32 chairs. They are out in stacks of 4. How many stacks? 

5. I have 40 sweets. I share them with my 8 friends. How many do they have each?

6. There are 36 children in a class. The teacher says to get in groups of 4. How many groups will there be? 

7. Altogether there are 56 eggs. They are put into boxes or 8. How many boxes will there be?

	8. [bookmark: docs-internal-guid-cc1fb98b-7fff-30df-d9]There are five towers of 3 cubes. How many cubes are there altogether?

9. There are seven boxes of 4 eggs. How many eggs are there altogether?

10. There are nine pots with 3 pencils. How many pencils are there altogether?

11. There are six rows of onions with 8 onions in each row. How many onions are there altogether?

12. There are seven packs of 4 bananas.  How many bananas are there altogether?

13. There are six bags of 8 apples.  How many apples are there altogether?

14. There are eight boxes of 3 cubes. How many cubes are there altogether?




Now, write your word problems for the following calculations. 
	9 x 6 = __ 							32 ÷ 4 = ___
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Use these digit cards just once to fill all of the gaps in the calculations.
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Question

Calculation required
(Do brackets first!)

Method

eg.

The cinema has
700 seats. 113
adults and 276
children come to
see the film. How
many empty
seats are there?

700 - (113 + 276)

311 seats
are empty.

Dorothy is
saving her
money for a

new bike costing
£286. 1f she has
already saved
£39 and is then
given £59 for her
birthday, how
‘much more does
she need to save?

A study of 900
people found
that 687 were
right handed,
174 were left
handed and the
remainder were
ambidextrous
(could use either
hand). How
many were
ambidextrous?
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Question

Calculation required
(Do brackets first!)

Method

The crisp factory
needs to make
875 bags an
hour. If a
‘machine breaks
down and the
factory only
‘makes 323 bags
in one hour, how
many does it
need to make in
the next hour

to catch up?

Dave earns
£1485 a month
as a bus driver
and his wife
earns £1760
as a teacher.
1f Dave gets

a pay rise of
£217 a month
how much less
than his wife
does he earn?

1f William
Shakespeare was
born in 1564
and lived to be
52 years old,
how many years
ago did he die?
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Multiplying and Dividing by 10, 100 and 1000
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34x10 = 65+ 10 =

65x100=_____ 42+10=
53+10 17x100=
87x10=____ 453x10=
785+100= 34x100=___
64x10=____ +10=__
39x100= 124 +100 =
283+10=____ 736x10=___
Fill in the missing numbers:

67x____ =670 68+__ =68
640+ =64 73x 7300

Fill in the space with either x or + so that the calculation is correct:
542 10 = 542 46 10 = 460
473 100 = 4.73 37 10 = 370
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All these questions involve using your multiplication tables.
« Rememberif3x7 =21 then 300 x 7 = 2100; 3 x 700 = 2100 and 30 x 70 = 2100

1) 700x2 _ 21) 8x600 —
2) 3x800 _ 22) 70x90 i
3) 400x6 . 23) 6x700 i
4 2x900 . 24) 800x8 —
5) 6x400 _ 25) 60x30 _
6 800x4 _ 26) 90x60 _
7)) 7xs00 = ___ 27) 7xs500 =
8 90x10 _ 28) 800x9 i
9) 600x6 = ___ 29) 10x70 i
10) 7x300 . 30) 7x900 —
11) 800x5 31) 600x8 —
12) 0x900 32) 4x700 _
13) 60x10 _ 33) 900x7 _
14) 7x700 _ 34) 6x900 i
15) 900x4 . 35) 40x80 i
16) 3x900 = __ 36) 700x8 =
17) 600x2 _ 37) 9x800 j—
18) 9x900 _ 38) 80x70 _
19) 7x600 39) 7x700

20) 500x9 40) 80x60
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Useaddition and subtraction calculations to complete these pyramids. The first one has been done for you.

1) 2) 3)
100 | 110 140 | 110
50 30 40 60 70 60 50
4 270 s 6 450
150 170 200
30 [ 90 50 | 30 120
7 8 200 9 290
270 [ 95 [ 155
50 | 130 ENE| 70
10) 11) S0 12) ]
[ Tes] [T 1 [ T ]
125 [ 70 | 255 [ 70 | 85 [ 175 ] 60





image13.jpeg
shutterstock.com « 194565221




